Higher Mathematics Topic 11 - The Circle Rig@ur Maths

Outcome 1 - Centre (a, b) radius r

Bronze examples Bronze questions

ps

Find the centre and radius for the following

Examples... The equation of a circles...

circle centre (a,b)
**Given onthe  with radius r is

formula sheet!** p i (x—9)2+ (y—5)2 =100

(r—a)?+ (y—b)* =72 & G=3+@+N*=064

& d

Find the centre and radius
of a circle with equation
(x—5)72+ (¥+3)?=16

- F 62+ (y+9)?%=8

4 +)y’=169
(5.-3) r=4
Write the equation of a circle Whrite the equation of for the circles with
with centre (-2, 9) and radius 6. these centres and radii...
x+2)2+ (-9 =36 é (8,—-6) r=7 (-1,10) r=3

.ﬂ
i Z G1 r=8 8 (0,-3) r=15

Outcome 2 - The General Equation

Silver example Silver questions L
r - &)
Examples... porGiven on the & XHy+2x+8y+8=0
The general equation of any circle is...
o Y x*+y*—8x+ 10y+5=0
X+ y +29x +2fy+c=0 = - -
. ) . **Half
with centre (—g,—f) The,?n x4 }12 4+ 16x — -‘.1-11 — 13

and
and radius \;"rgz +ff—c change

the
Find the centre and sign**
radius of a circle with equation
X*4+yP42x—14y—4=0

(-1,7) r=A/1+49+4 =452

X +y?—12x—6y—4=0

in & 4

x*+y*—20y+36=0

2x°+2y*—16x—20y+18=0

g

— = 3Ve

Outcome 3 - When given 2 end points ap
4

Gold example Gold questions

Examples... 1. Draw asketch Find the equation of the circles with the following

Find the equation of the circle which coordinates as the end points of a diameter...

has A(-6,-3) and B(2,7) as the end

points of a diameter.

2. Get centre i
(Th: midLoinﬂ) ! . p Jﬁ A(i‘ 8} Gnd B(s‘ 10) =] P(E' 3) Gnd Q(B' 7)
o-2,2) C |

e A M(-6,1) and N(6, -1) E(-10, -2) and F(4.,2)
raaius — - . . - - . - Gn .
(draw a triangle and use Pythag!) -~ '&
r=J41 :,p2=41

4. Write equation
Use (x— a)? + (¥ — b)2 =12 é C(-7.-8)and D(-1, 4) 8 R(-2.-8)and 5(3, 7)

(x+2)+(y-272=41
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H igher Mathematics Topic 11 - The Circle

Bronze Answers

- ~ -
L C(9,5) r=100 2 (3,7)r=8

C(-6,-9) r=2/2 & ((0,0) r=13
e (x-8)*+(y+6)" =49
6§ K+1)*+(y-102=9
L (x-B)*+(y-1)7=64

_a x*+(y+3)*=225

Silver Answers

o C(-1,-4) r=3

= ((4,-B) r=6

c(-8,2) r=9
c6,3) r=7

¢(0,10) r=8

» i & 3§

C(4,5) r=4J2

Gold Answers
L (x-3)7+(y-9)°:=5

2 (x-5)*+(y-5)*=13

&

2

x* +y?=37

(x+3)*+y* =53

in & 4

(x+4)% = (y + 2)* = 45

6 (-Hiey+d=e25
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